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v) JJThomson discovered in the atom
a) Nuclews
b) Proton
c) Electron
d) Neutron

b) Give one word/term for each of the following. [5]

i) Horizontal rows in the periodic table
ii)  The phenomenon by which hydrogen is absorbed by metals like palladium.
iii)  Dark, thick, dust and soot laden fog.
iv)]  Gases which trap solar radiation in the atmosphere.
v)  Process of gradual mixing of two substances kept in contact,by molecular
motion.

c) Identify A to E in the following. [51

i)Gas ‘A’ is reddish brown in colour and turns moist starch iodide paper blue/black.
ii)Solution ‘B’ lathers well with both soft wat&3% and hard water
iii)Clear solution ‘C’ becomes turbid/ milky when carbon dioxide or sulphur dioxide is
passed through it.
iv)Gas ‘D’ is a bleaching agent, which bleaches by oxidation.
v)Gas 'E’ forms dense white fumes when brought in contact with ammonia gas

d) Give reason for each of the following: [5]

i)Boiling point of sea water is higher than that of distilled water.
ii) Cation is smaller than the atom from which it is formed.
iii)Steam causes far more serious burns than water at 100°C.
iv)Dilute nitric acid is not used to prepare hydrogen.

v)Gag es are highly compressible.

e) Correct each of the following statements by changing the underlined part and rewrite the
correct statement. [5]

i)Dichromate is a Monovalent acid radical
ii)Molybdenum in the Catalyst used in the manufacture of ammonia
iii)Water is universal solvent due to its high specific heat capacity
iv)Electrons present in the innermost shell are known as valence electrons
v)The temperature at which the molecular motion ceases is called freezing point
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f) State your observation in the following 51

i)
ii)

Solutions of sodium chloride and silver nitrate are mixed together
Zinc is added to dilute sulphuric acid

Lead sulphide reacts with oxﬁe}? v ink
Drops of water are added to,copper sulphate

Hydrogen gas is passed through soap solution

g) Select the odd one from each of the lists given below and give reason for your choices [5]

i)

ii)
iii)
iv)
v)

Carbonate, Sulphate, Sulphite, Phosphate
Proton, Electron, Atom, lon

Sodium, Magnesium, Potassium, Lithium
Helium, Neon, Argon, Krypton

Iron, Copper, Aluminium, Calcium

h) Copy and complete each of the following statements selecting word(s) from the brackets. [5]

i)
ii)
iii)

iv)

v)

b)

The number of shells down a group(remains the same, increases, decreases)
Chemical formula of ferric carbonate is (Fez(C03)3,FeC03 , Fe(C0s)s)

In the reaction PbO+ CO— Pb+CO,,Pb@ is ( Reducing agent, oxidizing agent,
oxidized)

A Scrubber reduces (impact of acid rain, ozone depletion, global
warming)

Oxygen is in nature (acidic, alkaline, neutral)

Section 11[40 Marks]

Attempt any four questions from this section

QUESTION-2
[31
i)  Define ‘pollutants’
ii)  Name two natural and two man-made sources of air pollutants
Carbon monoxide is a dangerous pollutant [3]

i) How is carbon monoxide formed?
ii)  Name the compound formed when carbon monoxide combines with hemoglobin
of human blood and explain its effects on our body
[41
i)  Name the two acids which cause acid rain and write balanced chemical
equation(any one) to show how buildings like Taj Mahal are affected by acid rain.
ii)  Whatis the role of ozone layer in the atmosphere?
iii)  Name two chemicals responsible for distruction of ozone layer.

e
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QUESTION-3
w
a) Action of magnesium on steam is shown in the diagram,PeIow [3]

MAGNESIUM RIBBON SPIRAL

BOILING
WATER of

HEAT

(o)

i) Write two observations noted when steam is passed over magnesium
i) Give balanced chemical equation for the reaction.

b) One of the properties of hydrogen j5 demonstrated in the .above diagram (b)

l. What change is seen in the colour of the solid?
I Name the liquid collected in the conical flask and state the role of cold water taken in
the beaker
. Write balanced equation for the reaction.
\'A State the properﬂty of hydrogen that is illustrated in the above experiment.

c) [3]

I. - Inthe following reaction identify
1. Oxidizing agent
2. Substance oxidized
3. Reducing agent
4. Substance reduced
2Fe€ls+H,S
1. From the list given below, name two oxidizing agent.
Aluminium, 1370 nine , hydrogen iodide , lead dioxide.

> AFell, +anu+ S

#/
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QUESTION-4

a) Element X’ has 9 protons and 10 neutrons in the nucleus of its atom. [5]
I Give the 1. Atomic number 2. Mags number 3. Symbolic representation of element ‘X'.
I Is ‘X’ a metal or non- metal?
lll.  What s the valency of element ‘X’
IV.  Draw the orbital diagram of atom of ‘X’
b) Oxygen combines with calcium and hydrogen to form respective compounds. [5]
I. What is the difference between the bonding present in those two compounds?
Il.  Show the formation of chemical bonds in the above two compounds using the electron
dot structure.

QUESTION -5
a)
. State Dobereiner’s law of traid. [3]
1. Elements A,B and C form Dobereiner’s traid . Atomic masses of A and B are 40 and 88
respectively. Calculate the atomic mass of element ‘c’
b)
I What was the basis of Mendeleev’s periodic Table? [3]
I It was not possible to assign places for isotopes of an element in Mendeleev’s periodic
table. Why?

c) The positions of elements A,B,C,D,E,F and Gin the modern periodic table are shown below.
Answer the questions that follow. [4]
Group 1 Group 2 Group 17 Group 18

= A g .

B - C D

E - E G
l. State which are 1. Metals 2. Non- metals

II.  Which element has the smallest atoms?
. Which elements have Valence zero?

QUESTION-6

a) Formula of nitrate of metal ‘M’ is M(NOs), write the formulae of the following compounds of
metal M [3]
1. Sulphate
1. Hydroxide
1. Nitride
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b)

Balance the following equation [4]
I. Fe,0;+CO — > Fe+CO,
Il Al+NaOH+H,0 ———>» NaAlO,+H,
1. MnOAHEE—> Mnc12+HZOJs§"i£;l
v, Pb;GQy —— » PbO+0,

¢) Ammonium nitrate has the formula NH4NOs. Calculate the following: [31
l. Relative molecular mass of NH,NO;
1. Percentage of Nitrogen in NH;NO3
[R.A. M. N=14, 0=16,H=1]
QUESTION-7
a) Different types of chemical reactions are listed below. [4]
Direct combination, decomposition, neutralization, hydrolysis. Using the above list, state what
type of reaction, each of the following is.
I NaOH+HEL—> Nag#H,0
Il Ca0+H,0 — > Ca(OH),
1. Na,CO3+2H,0 —— 2NaOH+H,C0;
IV.  2Cu(NOj), ——> 2Cuo+4NO,+0,
b) A piece of Zinc is added to solution of copper sulphate and the mixture is left undistributed for a
few hours. [4]
. Write two observations noted in the above experiment.
I Write balanced chemical equation for the reaction that takes place.
1. Will there be any changes deserved if a piece of copper is added to solution of Zinc
sulphate ? Explain your answer
c) Give one example of each of the following (either give balanced chemical equation or give the

description of the reaction) b}
I. Thermal dissociation
1. Photochemical reaction.

Y—
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ACHARYA VIDYA KULA
HALF YEARLY EXAMINATION DEC-JAN 2018-19

STANDARD: IX MAX MARKS: 80
BIOLOGY (SCIENCE PAPER 3) MAX. TIME: 2Hrs

® Answers to this paper must be written on the paper provided separately.

e You will not be allowed to write during the first 15 minutes.

e This time is to be spent in reading the question paper.

o The time given at the head of this paper is the time allowed for writing the answers.

e Attempt all questions from section I and any four questions from section I

e The intended marks for questions or parts of questions are given in brackets[ ]

SECTION I (40 Marks)
(Attempt all questions from this section)
JHIS QUESTION PAPER CONTAINS <1 PRINTED PAGES

QUESTION I

a) Name the following:- [51
i) The tissue located in the husk of coconut
i) The product formed in anaerobic respiration in animals
if) A condition in which the petals are free
iv) The forms by which oxygen is transported from the lungs to the tissues

V) The fish used for biological control of mosquito
b) Choose the most appropriate answers from the options given below:- [5]
i) Some people wrongly compare the cell inside the body with bricks in a wall.
Actually there are crores of differences bet ween the t100 S one such d"Hf Tence
is that a) Most bricks have a definite shape and size where as cells do not have a

definite shape and size
b) One brick gives support to another brick in a wall where as cells do not give
support to other cells inside the body
¢) Bricks are perishable where as the cells are non —perishable
d) Bricks cannot grow and divide to produce two bricks where as the cells can
grow and divide to produce two cells
ii) Humerus is the bone of
a) Leg
b) Hand
¢) Shull
d) Shoulder
iif) Which one of the following pairs of types of teeth perform one common function
as stated against it?
a) Incisors-Holding
b) Canines, premolars- Biting
¢) Permolars, Molars — grinding
d) Molars,incisors-tearing
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iv) Which one of the following categories of vertebrae are correctly numbered

a) Cervical-7
b) Thoracic-10
¢) Lumbar-4
d) Sacral-4

v) Which one pair of two conditions includes both as abnormal conditions of skin

pigmentation?

d

a) Leucoderma, ringworm
b) Albinism, Leucoderma
c) Baldness, albinism
d) Rickets, Baldness
Write true or false. If false, correct it and rewrite complete statement by changing the last
world only:- [5]
i) The waste water discharged from industries is called composting
i) The ability of an organism to resist an attack of a pathogen is called immunisation
iii)  Deficiency diseases are caused due to under- nutrition or mal nutrition
iv) Clostridium botulinum causes food poisoning commonly known as leprosy
V) Plants having vascular tissues called bryophyte

Distinguish between the following [5]
i) Gymnosperms and angiosperms
ii) Ovule and seed

iii) Epigyny and perigyny
iv) Bone and cartilage

v) True ribs and floating ribs

Find out the odd one out and give reason in support of your answer:- [5]

i) Oxyhaemoglobin, carbamino haemoglobin, Hypoxia, carboxy haemoglobin
ii) Cell wall, centriole, chloroplast, Mitochondria

iii)  Cartilage, areolar, adipose, squamous
iv) Feathery stigma, long stamens, sticky stigma, light and dry pollen

V) Hepeatitis, Filariasis , Dengue, Malaria

Match the items in column I with as many items as possible in column II [5]
Column I Column II

i) Rhizopus a) Produce blood cells.

i) Oesophagus b) regulates body temperature.

iii)  Hollow long bone c) C- shaped cartilaginous rings.

iv) Skin d) Peristalsis.

V) Trachea e) bread mould.

f) Elastic organs.
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2) Given below is an example of a certain structure and its function.on a similar pattern fill
in the blanks. 5]
Eg: Ribosome ---
Ans: Ribosome protein synthesis.

i) Pleura ---

ii) Sebaceous gland ----
iii) Trypsin ---

iv) Hypothalamus-—
V) Vinegar---

h) Copy and complete the following statement:- [5]

i) The covering of muscle fiber is

i) is the protective layer of the radicle.

iii) In nutrition, organism feed on dead and decayed organisms.
iv) Removal of undigested food is called

V) joint is present between atlas and axis vertebra@

SECTION II (Answer any four questions from this section)

QUESTION 2
a) An experiment was set-up to show the respiration in germinating seeds. If there is any
mistake in the diagram, redraw it correctly and label. [51

To Fiter

i)What is the function of caustic soda in flask A ?
ii) What change will be noticed in the lime water in flask B & D?

-3-
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b) Define the following :- [5]

i) Movement

ii) Biodeterioration

iii) Tracheophytes

iv) Symbiotic association
v) Dormaney

QUESTION 3

a) Observe the diagram given below and answer the following questions.

b)

i) What does the given figure show?
ii) label the parts marked 1-6

iii) Name one plant in which this takes place?

Draw a neat labelled diagram of Nerve cell. 2]

Give scientific reasons for the following:- [4]
i) Cultivation of leguminous plants increases soil fertility

ii) plastics are non-biodegradable waste
iii) Eating places must be kept free of flies.

1v)A higher altitudes people feel breathlessness.

-#.

[4]
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QUESTION 4

a) The diagram shows the digestive system of human being. [5]

‘*T»O&sophagus

—Rectum
Anus-

i) Label the parts 1-6

ii) Name the finger like projection found in the walls of part labeled 5, write its important
function

iii) What changes take place in parts numbered 3 and 6

b) State the role of the following:- [5]

i) Thoracic cavity
ii) Endosperm

iii) Rhizoids

iv) Cardiac muscles
v) Centrioles
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QUESTION 5
a) The diagram given below shows the process seen in female flower. Study the diagram
and answer the questions that follow:- [51

i) Name the process shown in the diagram
if) Label the parf numbered 1-7
iii) What is triple fusion?

b) Draw a neat labeled diagram of hererostyly in primrose [2]
c) Explain the following terms:- [3]
i) Cryptogamae
ii) Basal Metabolism
iii) Dichogamy
QUESTION 6
a) The diagram given below shows the structure of a tooth. Study the diagram and answer the
following questions:- /"/‘\! [51
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i) Label the parts numbered 1-6
ii) Name the hardest substance of the body which is shown in the diagram.
iii) Name the three parts of the tooth

b) Give scientific term for the following:- [5]

i) Part of food found in skin of vegetables which cannot be digested

ii) Nucleus that gives rise to two male gametes

iii) Pollens of the same flower fail to germinate on the stigma of the same fllo wer

iv)A bunch of flowers on the same stalk

v) The deposition found on the walls of cork cells which makes cork cells impermeable to water
and gases.

QUESTION 7

a) Study the diagram given below and answer the questions that follow:- [5]

i) Name the diagram shown above
ii) Label the parts numbered1-8
iii) Mention the flat bone in the diagram

b) There are 5 sets of 4 terms each. Rearrange them in a proper sequence so as to make the
logical sequence:- [5]

i) Nucleus, cell wall, cytoplasm, cell membrane

ii) Lumbar, cervical, Sacrum, Thoracic

iii) Animalia, Protista, Monera, Plantae, Fungi

iv) Trachea, Lungs, Nose, Nasal passage

v) Rectum, Mouth, Anus, Oesophagus




image1.jpeg
HALF-YEARLY EXAMINATION, DECEMBER 2018, JANUARY 2019

Class 9

PHYSICS

ACHARYA VIDYA KULA

(SCIENCE — PAPER 1)

(Two hours)

Answers to this paper must be written on the paper provided separately.

You will NOT be allowed to write during the first 15 minutes.

This time is to be spent in reading the question paper.

The time given at the head of this paper is the time allowed for writing the

answers.

Section I is compulsory. Attempt any four questions from section Il

The intended marks for questions or parts of questions are given in brackets [ ].

SECTION I (40 Marks)

Attempt all questions from this Section.

Question 1

(a) Calculate the number of seconds in a year. Take 1 year = 365 days.

(2]

(b) Calculate the frequency of oscillation of Second's pendulum. Does it
depend upon amplitude of oscillation?

(c) Draw velocity-time graph from the table given for a stone dropped freely
from the top of a tower. The stone reaches the ground in 4s. Use the

graph to calculate the height of the tower.

t(s)

v(m/s)

10

20

30

40

(2]

[2]

Page10of5
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(d) For an uniformly accelerated motion, what is uniform? and what is

changing regularly? [2]
(e) A spring is compressed against a rigid wall .Draw a neat and labelled
diagram showing the forces acting on the ball and the string. 2]
Question 2
(a) Two equal and opposite forces act on a moving object. How is its motion
affected? Give reason. [2]
(b) Define linear momentum and state its CGS unit. [2]

(c) The linear momentum of a ball of mass 50g is 0.5kgm/s. Find its velocity. [2]
(d) In rocket propulsion, due to liquid fuel burning inside the rocket, jet of

hot gases ejects from its tail. Is it responsible for its propulsion? Explain. [2]
(e) How does the gravitational force of attraction between two masses

depend on the distance between them? [2]

Question 3
(a) Name the Sl unit of heat. Approximately how many calories make 1J? [2]
(b) Describe briefly two adverse consequences of the anomalous expansion

of water. [2]
(c) State the law which governs the energy flow in an ecosystem. [2]
(d) ) Write two differences between renewable and non-renewable sources

of energy. [2]
(e) Why is the use of wood as a fuel not advisable although wood is a

renewable source of energy. [2]

Question 4

(a) Name the radiation which is absorbed by the green house gases [2]

(b) The walls of a barber shop are covered with a plane mirror and two
movie films are made-one recording the movements of barber and other
of his mirror image. From viewing the films later, can an observer

differentiate between object and image ? [2]
(c) Draw suitable diagram to illustrate the action of convex mirror on a beam
of light incident parallel to the principle axis. [2]

(d) The given figure shows the shape of a part of a long string in which
transverse waves are produced by attaching one end of the stringto a
tuning fork of frequency 250 Hz. What is the velocity of the wave? [2]

m_sm By i (.
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(e) Which has the higher wavelength- ultrasonic sound or infrasonic sound? [2]

SECTION II (Attempt any four questions) 40 Marks

Question 5

(a) (i)The size of a bacteria is 1. Find the number of bacteria in 10cm

length.

(ii) Name the physical quantities which are measured in the following

units.
)y (2)ns
(b) (i)Define pitch.

(ii)A boy makes a ruler with graduations in cm on it( i.e. 50 divisions in
1m). To what accuracy can this ruler measure?
(iii) How can this accuracy be increased?
(c) Abody covers a distance s in time t as follows:

t(s) 0 2 5

10

12

15

20

s(m) 0 4 10

10

8

Plot s-t graph. Determine velocity of the body during the time interval
()0to5s (ii) 5sto 10s  (iii) 10 to 20s.

Question 6

(a) The separation between two masses is reduced to half. How is the
magnitude of gravitational force between them affected?

(4]

3]

(b) A force acts for 10s on a stationary body of mass 100kg after which the
force ceases to act. The body moves through a distance of 100m in the

next 5s. Calculate:
(i) the velocity acquired by the body,

(ii) the acceleration produced by the force and

(iii) the magnitude of the force.

[4]

(c) Two bodies P and Q are of the same mass but are moving with velocities

of 5v and 2.5v respectively. Compare their inertia and momentum.

E)

Page 3 of 5
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Question 7
(a) (i)A person is standing on ice at a place Aina frozen pond. He has a
pistol and a bullet. How can he move from the place A to another distant
place B? Explain with a diagram.
(ii) Two spring balances A and B can measure up to 500N and 1000N
respectively. When they are joined at their free ends, and pulled apart,
spring balance A measures 400N. How much does spring balance B
measure? Give reason. [4]
(b) (i)The earth and the moon are attracted to each other by gravitational
force. Does the earth attract the moon with a force that is greater or
smaller or the same as the force with which the moon attracts the
earth? Explain.
(i) A body is thrown vertically upwards with an initial velocity u,. Write
an expression for the maximum height H, attained by the body [3]
(c) (i)Why does a piece of ice when touched with hand appear cool? Explain.
(i) Two cups A and B are filled to the brim with water at 4°C. Cup A is
heated and cup B is cooled. Does the water overflow in- (a) cup A only,
(b) cup B only (c) both the cups {d) neither of the cups.

Explain with reason. [3]
Question 8
(a) State the volume changes observed when a given mass of water is
heated from 0°C to 10°c. Sketch a temperature(y-axis)-volume graph. [3]

(b) Producers produce 20,800 cal of energy using the sun's energy. The net
primary production stored in the producers is 8800cal. The primary
consumers obtain only 3400 cal of energy. Using these information
answer the following questions.

(i) What are producers and primary consumers?

(i) For what purpose producers themselves require energy? and how

much energy is used for this purpose?

(iii) If primary consumers get 3400cal out of 8800cal from producers,

what happens to remaining energy? [2+2+1]
(c) Write four advantages of solar panels. 2]

Page 4 of 5
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Question 9
(a)some of the impacts on the life on earth are the following:

(1) Changes in the climate, forces the people and animals to migrate
from one place to another. '

(2) The change in blooming season of different plants.

With the above information answer the following:

(i) What is the main cause of the above two impacts on life on the earth?
(ii) Identify two more impacts on life due to the cause you mentioned

in (i).

(b) (i) A ray of light is incident on a plane mirror at an angle of 50° with the
mirror. What is the angle between the incident ray and the reflected
ray? Show the angles in a ray diagram.

(i) (1)An object is placed between two mirrors which are perpendicular
to each other. How many images will you see?

(2) What happens to the number of images if you increase the angle
between the two mirrors?

(c) (i) Correct the following statement by adding suitable words at
appropriate place.

Parallel rays coming from infinity, incident on a mirror after reflection
meet at a point or appear to meet at a point, called focus of the mirror.
(i) an object is placed at 4cm distance in front of a concave mirror of
radius of curvature 24cm. find the position of image and magnification.

Question 10
(a) An inverted, diminished to one fourth the size of the object is obtained

by using a mirror of radius of curvature 16cm.
(i) What is the type of mirror used to obtain the above mentioned
image? Give reason.
(i) How far away is the object from the mirror to obtain the above
image?
(iii) How far away is the image from the mirror?

(iv) What is the distance between the object and the image? [1+2+1+1]

(b) Ocean waves of time period 15s have wave velocity 10m/s. Find:
(i) the wavelength of these waves.
(ii) the horizontal distance between a wave crest and its adjoining wave
trough.

(c) State two properties of ultrasound that make it useful to us.

Page 5 0of 5
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ACHARYA VIDYA KULA
HAELF YEARLY  EXAMINATION - DEC/JAN 2018-19
CLASS: IX y MAX MARKS: 80
SUBJECT: CHEMISTRY[SC,LWL -Rupesr2)  MAX TIME: 2 HRS
GENERAL INSTRUCTIONS:-
Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during first fifteen minutes.
This time is to be spent *n reading the question paper.
The time given at the head of this paper is the time allowed for writing the
answers.
Write question numbers clearly as given in the question paper.
Read the question carefully and follow the same system of numbering as given
in the question paper. The intended marks for the questions or parts of
questions are given in brackets[ ]
Answer all the questions from section I and any 4 from section II

This question paper contains 6 printed pages

Section 1[40 Marks]
Answer PL-i- - questions from this section
QUESTION-1

a) Choose the correct answers from the options given below. [5]
i) Molecular formula of sulphur is

a) S b)S, c)Sa d) Sg

i)  State the valeney of Nitrogen atom from the following equation

N+3e— N~
a)l b) 2 c) 3 d) 4

iii)  Which of the following i§ a negative catalyst?
a) Phosphoric acid(in decomposition of Hydrogen peroxide)
b) Manganese dioxide(in decomposition of potassium chlorate)
c) Copper(in the laboratory preparation of hydrogen)
d) Palladium( in hydrogenation of oils)

iv)  Water has maximum density at
a) 0C
b) 4C
c) 10°C
d) 100°C




